Section 3.1 Sets

Math 141

Main ideas
Set {1} Universal set U
Union U Emptyset @
Intersection N Elementof €
Complement '’ Subset c
Observations (made from Problem 1):

TN : Y | [ R—
—>(§/:S —>(Sﬂl)'=SL/T

, : y ~— s ! ; /
>y Joet= i - (S VT)Yy=S'N"T
> s ns’=¢ s BAT S S & gUT
A
ov T

Problems

1. LetU={1,2,3,4,56,7},5={1,2,3,4},andT={1,3,5,7 }.
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2. True or false:

{3,5} < {3,5, 7} T

{5} = {3,5,7) q
5¢{3,5,7} N Al
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{b,c} < {b,c} T

3. let U={a,b,c,d,e,f}, R={a,b,c}, S={a,c,e},and T={e, f}.
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g. RU(SNT)= {a«i Cﬂ v ﬁtg ? Y, ¢, 53
h. RUS) AT = fq' b/c,e} N Tf)FS = ?e]

4. Under what circumstances will SN T =S?
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Under what circumstances willS U T =S?
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